Ua®@R~

Pourcentages de nombres ( nombre manquant )

x70% = 12.6
x70% =259
x 30% = 8.1
x90% = 1.8
x30% = 7.8
x 60% = 55.2
x50% =3
x90% = 15.3
x 60% = 14.4
x 80% = 55.2
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Date:

x 10% = 7.1
x 50% = 27

x 60% = 54
x 80% =4

x 90% = 82.8
x 30% = 18
x20% = 16.4
x 50% = 23.5
x 90% = 44.1
x 50% = 8

Note:



https://www.snowmath.com

Un@D 7

Pourcentages de nombres ( nombre manquant )

Nom:

18 x 70% = 12.6

37 x70% = 25.9

27 x30% = 8.1

2x90% = 1.8

26 x 30% = 7.8

92 x 60% = 55.2

6x50% =3

17 x90% = 15.3

24 x 60% = 14.4

69 x 80% = 55.2

Date: Note:

71 x 10% = 7.1

54 x 50% = 27

90 x 60% = 54

5x80% =4

92 x90% = 82.8

60 x 30% = 18

82 x20% = 16.4

47 x 50% = 23.5

49 x 90% = 44.1

16 x 50% = 8
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